. Write T (TRUE), F (FALSE) or N (Not Mentioned) next to the statements below.

~ a)Because the cost of operations is not very high, both the government and the private sector can make
more profit from the renewable energy sources.

_ b)One of the advantages of renewable energy is that it has little or no waste products.

¢ Itis easy to generate a lot of electricity.

_d)The weather has a very little effect on generating renewable energy.
. Match the definitions with the underlined words in the text.

a) based on or in accordance with what is generally done or believed 1. effective
b) successful or achieving the result that you want 2. waste
c) things that are not wanted, especially what remains after you have used something 3. conventional

. What does the underlined word “they” in paragraph 3 refer to?

. What are the natural energy sources in your country? Give examples.



